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/' A 1-ka ball is connected to the ceiling by a 1-m string having a cross section
area of l-mm*, and a tensile strength of 147.15 N/mm*, if the ceiling is above
the ground by 2-m, and the ball is initially located position A, from where the
ball is released from rest as shown in the following figure.

{ Neglect the weight of the.string )
Questions : (a) Can this ball hit the ground ? why?
(b) If it can, at where will this ball hit the ground ? {15%)

2' A 10-kg rod having a length of 3-m is connected to the ceiling by a string AB
as shown in the following figure. Suppose that there is no friction existing
between the rod and the ground, and the weight of the string is neglected,
determine the tensile force in the string AB at the instant when it is released
from rest. : (15%)
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